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tan@ + secf — 1 B 1+ siné

1. $Hifare fe =
s tanf — secf + 1 cos 0
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2.(1+ cot @ — cossec 0)(1 + tanf + secf) = 77
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3. 3R cosf + sinf = 1/2cosf, dl g Hfow &H

cos — sinf = /2sinb.
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4.3 G (1-sinA)(1-sinB)(1-sinC)=(1+sinA) (1
+sinB) (1+sin C),d g HIfAT Y &I A7 + cos A

cos B cos CEﬁTﬂ

O iz

5. 3R m = tanf + sinf d°T n = tanf — sinf, dl

BB m? — n? = 4,/(mn).
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6. R z sin® 0 + ycos® 6 = sin6 - cos § T

zsinf — ycos§ = 0, @l g FFHI 22 + ¢? = 1.
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7. G B Prsec’ § = Lﬂwﬁa&nﬁw‘m%xw
(z +y)
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1. g CAIE ] &I

(1 + cot @ + cosec 6)(1 + cotf — cosec ) = 2cot 6.
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2. g CAIE D

(secld + tanf — 1)(secfd — tanf + 1) = 2tané
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3. g HIfT

(1+sinA + cos A)* = 2(1 4 sin A)(1 + cos A).
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4, g Hifarg &I
1 1 1 1

secA —tanA  cos A B cos A secA +tan A
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5. g Hifarg &I
1 1 1 1

cosec A- cot A sinx sin cosec X + cot x
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2tan? A

cos?

6. g HIfFTHI 1 + — tan* A + sec* A
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7. g Hifag &Hi tan 6 + tan 6 — 2cosec 6.

secd — 1 secld + 1
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8. g HifaT &I
tan A cot A

B —— A A+ 1.
1—cotA+1—tanA sec cosec A +
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9. 3R sina+cosa=1 d@ Rg &HEg &H

sina —cosa = +1
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10. I acosA —bsind=c¢ d Rg &> &

asinA + bcos A = + +/a® + b —
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1. A cos B —sinB = /2sinB. @ g Hifew &
cos B + sin 8 = /2 cos S.
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cos? B sin’ B

sin* A + sin* B = 2sin® A - sin’ B
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cos? B sin? B

sin®* A + sin* B = 2sin® Asin’ B

cos? A sin A
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14. 3R cos’ A — sin? A = tan’ B, @ g Hifog &

2cos’ B — 1 = cos’ B — sin’> B = tan’ A.
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cos* B sin* B

15. Ifid  w = secO + tand, a g & &
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16. I secA —tanA = p, (p #0), d #AA [P

tan A, sec A, sin A.
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17. af§ sinz + cosz = m 3R Sec X + cosec X = n, dr

feeare & n(m2 — 1) = 2m.
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18. cosec 0 — sinf = m 3R secd — cos@ — cosf = n

3 0 P e ST |


https://dl.doubtnut.com/l/_RPVBwTaKJKUs
https://dl.doubtnut.com/l/_Gn8uKNwmDpVQ
https://dl.doubtnut.com/l/_wJxfP1StY9gK
https://dl.doubtnut.com/l/_UGuE8XSbwc23

O iz
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